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(09) Find the median ofthe data set.
3,8,10,10,11,15,18 :

(10) Whatis the intercept of the straight line,  y=2x-3

(11) Give %asapercentage.

(12) If e= {1,3,5,7,9,10} and Q={1,5,10}
' Denote it on a Venn diagram and write the set Q'

(13) If the ratio between sand, cement and metal is § : 3: 2 find the following amount needed for 12 pap
cement.
INUMber of pARS oL Sand = " o By R et amsisibesdairiieey
Total number of pans in the MIXtULe .........cocovereofariNereserssercresriesenennns

(14) Factorize 18-8x’

(15) According to the given diagram find the magnitude of y. / 27°
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(18) /n‘{. erson invest Rs 65 000 to buy Rs 10 shares at Rs

AR
R

13 Find the nominal value of those shares.
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(26) Three people can finish painting a house with in four days. Ifone doesn't come to work how many ex
days needed to complete the work.

(27) The annual rate of assessment tax is 5%. Find the assessment tax for one quarter for a house assesg
Rs20000.

(28) Oisthecentre of the given circle. Find the magnitude of x.

(29) Thediagram showsawall ABCD ofah should be fixed A
3m away from the ground level istant to the given two
points Aand B of the roof. Show & sufitable position with a rough sketch
with lines of constructions. :

D Ground level C

(30) Complete the circles with allnumber 1,2,3, 5 and 6 to get the sum of .
each side should be nine.
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(03) (a) The following informations are collected from a set of to workers of an institute about

preference in eating fish and meat.

*x  Thenumberofworkers who like fish n (F)

38
30

*  The number of workers who do not eat fish or meatis 15

I

*  Thenumber o workers who like meat n (M)

(i) Givetherelation ship between the cardinalities of the workers who would like to eat fish or mea
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(b) The following dotted graph gives the results when a cubical and a tetrahedronal dice t

together.
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) The given figure shows an incomplete diagram of a badge which was prepared for a creative exhibition
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corate the badge he needs to pas around the outer edge. Calculate the

length of the cord.

Sessssessstssnnnastannn E e P R T T ) R P sessesaassnnane

R T P PR R R R L L) .

|

cessary to paste coloured semicircles of radius 7em, on the given large semicircle without
overlapy ping. How many semi - circles can be pasted on it. Draw a rough sketch by showing the

s of those semi - circles clearly.
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(05) The following incomplete table gives the information about the number of workers who assumed du

in aroad development site for a certain time period.

No of workers

A
18T
Class Inteval No of days
(No of workers) (frequency) 16T
. ‘ 14+
20 - 30 7
12+
SO A0 =t 0 i
10+
20260 51 | oo Bt 8T
6 1
60 - 70 8
4 1
70 - 100 18 asl
0 : x A
20 30 40 50 60 70 80 90 10
(i) Complete the blanks of the table according to the given histogram.
(ii) Draw the last coloumn of the histogram according to the class interval 70 - 100.
(iii) What s the time period where the above datgiis tolected.
(iv) Some one says that the minimum attendence of workers for that certain time period is more
than 3000. Do you agree with this statement? Give reasons.
(v) Draw the frequency polygon of the above histogram.
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s(ions selecting five questions from part A and five questions from part B.
cames 10 marks.

f a solid right circular cone of base radius r and height h is .

. 2
—=7r'h.

3
ofasolid sphereradiusris % nr.

Part- A
‘;}ons only.

'g“_fPay Rs 10 000 and take a valuable computer home

i Rest in 10 equal installments of Rs 8 880

paidasaloan

2“ | & bk )
the ({olal interest o be pand ?

éSl pen oné month m‘. t \

Fro

al mtucsl

vatable of'y for the values of x of the function y=2-(x+1)’ isgivenbelow.
b-4 23 <3

-1 0 1
1 2

2

| -2

...... -2 -7

ﬁe value of y, whenx = 0

/

:le graph of the given function by choosing a suitable scale for x and y axes
( s,raph

Q maximum value of the function.

h ',;éﬁquation ofline of symmetry.
range of x where the function is increasing positively

(Squauon of the function where it has a maximum value and the co-ordinates of the
-1.,0)
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(03) (a)

(by Simplity. 2 1
X-1

(c)

(04) (a)

(b)

(05) (a)

(b)

(00) (a)

The trinomial 3 -x-2x"isdivisible b inder. Find the other factor.

Find the solutions of the quadratic eqt 0 by completing square or any 1

method to nearest two decimal places. {{

) IfA =(0 y)writethematrix
2x
(1) Findvandysuchthat 2A + (

(111) Write the above x and y values ina rite the order of it.

Ariver flows to East from Westand ap
can see a telephone post B ata bearing
the point C. the post B can be seen in
his way towards East.

(1) By usinglhescalediagram,ﬁndth%‘%% al heigl
, Ol

Ay

Acsalid right:mictal cone of radius of thel S : I perpendicular height 14cm was melted an
prepared asolid hemi - sphere withouta?gy X ; &
&

(1) Show thatthe slant height ofthe co

(11) Find the volume of the prepared he

(111) Find the radius of the solid hemi - s i le number.
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Part-B
ns only.

‘ccording to the given rough sketch, a technician cut the pieces of vertical ironrods to prepare a

g reerae

No of loaf of No of
bread days
50 -58 6
Py L tion given in the table to your answer script 58 - 66 8
g caiculate mean number of loaf of bread sold per day, 66 - 74 1
€Cling the mid value of the modal class interval as the :
sheetalyy, | ‘ 1482 s
82-90 10
ad is Rs. 50, calculate the income 90 - 98 7
""" \& ¢ two months by selling bread. 08 - 106 4

between the angles a and.b

1

al théofem_felated to the above




~(b) ABisadiameterofacircle with centre
APand PQ are equal chords in length.
4
(1) Copy the given diagram to your answm scnpl andJom l’lO and AQ.

'."] b A
(1) Find the magnitude of the dl]&,lLAPB : |

(111) Name two angles equal to angle PAQ

() Prove thatQB // PO by giving reasdﬁ_.sj‘ff

(11) AB=AC intheisocelease triangle ABC. ThcsonlheprodumgdBC. A
The points PandASlleon theproduced AB i1 T
such as PTB=BTs =y .
I AC producedtoRand ACB=x _
then, ‘ AT Q
(1) Copy the diagram and mark the gwen data on 1t

(12) (a) The winner of the 1st round of a quiz’ is éelected ponsndermg the least time taken to answer th
quesuions out of 10 competitors. Only thx, winner Qan pamglpate for the second round and 3 8 is the

probability of winning the second round, _ U
S0 FAUOL 8

(1) Draw the tree diagram to denoié:l'h,e possibi]i.ti:e‘s of a competitor winning the game or not:

i !
S ¢ K

(i1)  Find the probability ofa competi t()r winni:“n gigiiibf(ilthgrf;(‘:)unds.
: ?;; , i

v

(b) 39students qualified for (A/L) class outo 50 chlldrﬁ s

Students who —
qualified to A/l s
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